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I.  Fill in the blanks. 
            

a)  3290       _______ = 0                                                                               ½  x 10 = 5  Marks 

 

b)  4571   x   207  =  207   x  ________ 

 

c)  ______  ÷  9328  =  0 

 

d)  300  x   30  =  ___________ 

 

e)  7826  ÷  _______  =  1 

 

f) 100 less than 4100 is ____________ 

 

g)  6800  ÷  100  = ___________ 

 

h)  1740        _______ =  1740 

 

i)  _______  x   498  =  498 

 

j)  60  ÷  12  =  _____________ 

 

II. Do as directed.                                                                                          2 x 5 = 10 Marks 

 

 

 

 

 

 

c) Find the difference between  53459  and  36284. 
 

_______________________________________________________________________ 

 

_______________________________________________________________________ 

 

_______________________________________________________________________ 

 

_______________________________________________________________________ 

Marks -          /   20 

a) Subtract b) Multiply 

        6  0  4  5  7 1  5  0  6 

   4  8  2  8  4      x              5 

  

  



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 

III. Solve the word problems.                                                                   2½ x 2 = 5 Marks 

 

a) A stadium has 43 rows with 720 seats in each row. How many seats are there in the 

stadium? 

 

_______________________________________________________________________ 

 

_______________________________________________________________________ 

 

_______________________________________________________________________ 

 

_______________________________________________________________________ 

 

_______________________________________________________________________ 

 
 

b) 2240 sweets are to be arranged equally in 7 boxes. How many sweets should  each 

box contain? 

 

_______________________________________________________________________ 

 

_______________________________________________________________________ 

 

_______________________________________________________________________ 

 

_______________________________________________________________________ 

 

_______________________________________________________________________ 

 

d) Divide e) Multiply 

         9 9 8 7   ÷   3  2           6 2 1   x   3 0 5 

  

  

  

  

  

  

  

  


